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2.1-15  ans = a) .6513,   b).7941

2.1-16   a) n=7,   n=29


2.4-21 take longer route
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2.4-15.

2.4-16.

It is claimed that for a particular lottery, 1/10 of
the 50 million tickets will win a prize. What is the
probability of winning at least one prize if you
purchase () 10 tickets or (b) 15 tickets?

For the lottery described in Exercise 2.4-15, find
the smallest number of tickets that must be pur-
chased so that the probability of winning at least
one prize is greater than (a) 0.50; (b) 0.95.
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2.4-21. A businessman has an important meeting to
attend, but he is running a little late. He can
take one route to work that has six stoplights
or another, longer route that has two stoplights.
He figures that if he stops at more than half of
the lights on either route, he will be late for the
meeting. Assume independence, and assume that
the chance of stopping at each light is p = 0.5
‘Which route should he take?





24115, I clamed that fo a patcularlottry, 110 of
the S0million tickets will win  prize, Whats the
probabilty of winning at Jesst one priz if you
Porchase (8 10 iekets o (b) 15 tekets?

2,416, Forth lttry described in Exercise 2415, ind
he smallest mumber of tekees that must be pur-
Chased s that the probabiityof winning at least
e prize i reate than (3)050; (5) 095

2421, A businessman has an important mecting o
attend, but he is running a litle late. He can
take one route (o work that has six stoplights
or another,longer route that s two stoplights
Hie figures that if he stops at more than half of
the lights on either route, he will be late for the
meeting. Assume independence, and ssume that
the chance o stopping at cach light is p = 0.5,
Which route should he take?
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